Grammar for a Purpose Book 4

UNIT 2 ANSWERS: Check your punctuation

/
The Sydney Harbour Bridge

The Sydney Harbour Bridge crosses Port Jackson in Sydney Harbour. It carries
trains, vehicles, pedestrians and bicycles. The Sydney Harbour Bridge opened on
19 March 1932.

The Sydney Harbour Bridge is a steel single-arch bridge. It is 48.8 metres wide,
making it the widest long-span bridge in the world. There are two tall pylons at
each end of the bridge.

On New Year’s Eve, the Sydney Harbour Bridge is the centre of an exciting fireworks
display. Fireworks explode in brilliant colours from the arch, pylons and roadway.

Millions of tourists visit the Sydney Harbour Bridge each year. Tourists climb to
the top of the bridge or visit the Pylon Lookout because of the magnificent views
across Sydney.

Self-assessment

My punctuation is:

[ ] ok

|:| Improving
D Good
D Great
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